A7t10 RYjbeyh

3/3LRRYIL 10448
v FARE (mm)
3.0:-3.2-3.5-4.0-4.5-438
5.0-55-6.0-6.5

FEffi 19,200

(:I INILRE IJ )[, Crorzmm) Mg s,
?LEHI

a/8LRRYIL 15848
v FARE (mm)
3.0-3.5-40-45-50-55-6.0-6.5
70-75-8.0-85-9.0-9.5-10.0

FEffi 44,100

a/NLRRYIL 21 F48
v FRE (mm)
30-35:-40-45-50-55-6.0-6.5
70-75-8.0-85-9.0-9.5-10.0
10.5-11.0-11.5-12.0+-12.5-13.0

FEffi 78,600

s

( )
IO U=pREYI |
mm SDS
Y L
AT TR 744 SDSFSX
v bARE (mm)
JJ)OULMRUJL:25-3.3-4.2:5.0-6.8-8.5-10.3
Effi 20,600
ARL—FRYIL 10%K 48 SDSKYJL 10448
$ S . A " v fRZE (M) v FARE (mm)
a/NLRRYIL = By T Yk 32.35-43-45-48 3.5-43-48-50-6.4
v fRZE () 5.0-6.0-64-8.0-8.5 8.5-10.5-12.5-12.7-14.5
JJULMRUJL:25-3.3:-4.2-50-6.8-8.5-10.3
Z2IAS)FwvT (SUS) :M3:4:5:-6:-8-10-12
Effi 12,000 Effi 25,000
Effi 39,000
O 7/ \_ y,
( M 1 )\ 28 (HSS) )
%@ [ﬁ Dj ﬂ@ (#2720 2R] Zmus 7500 500
i!.iﬁi
FAVRYIL 13F4 FAURYIL 1944 FAURY)IL 25448
v fRZE () v fRZE (mm) v fRZE (M)
1.5-2.0-25-3.0-3.2-3.5-4.0 1.0-1.5-2.0-25-3.0-3.5-4.0 1.0-1.5-2.0-25-3.0-3.5-4.0
45-48-50-55-6.0-6.5 45-50-55-6.0-6.5-7.0 45-50-55-6.0-6.5-7.0
7.5-8.0-:-85-9.0-9.5-10.0 7.5-8.0-:-85-9.0-9.5-10.0
10.5-11.0-11.5-12.0-12.5-13.0
Effi 12,000 Effi 16,000 Effi 40,000
\_ _J

Kokusai

#_XE=x 3o Y T

XA REFEUERTIENHYFET DT, CTHTSL, 2021, 10.19




@antto SEmERY LY

TISILFRUYIL (27oL2-88]) tm: 200z (HSsCo) ({‘/[(7|s|s“$«r[\“—jg|'];ﬁ

@)

FNEET/LNRY LSRR
v bRE (mm)
20-25-3.0-3.5-4.0

RAMI/LNRY L -2y T2yh
ByvT vy hAE () rUL Ly BARE (mm)

NEE/ULERYIL 1048
v FARE (mm)

M4x3 M5x1 Mé6x1

25-33-35-42-45

25-33-35-42-45

48-50-55:6.0-6.5

FEffi 43,000

. )\ R§H (HSS)

48-50-55-6.0:6.5

Effi 25,400

FEffi 11,200/

ZIrFYN e
p:

N\ [ )
;.
{ ABHEETRY )L 10448 ABMEETRUL 554
Ty bAE (mm) v bRE (mm)
i 25:33-35-42-45 8.0-9.0-10.0-12.0-13.0
48-50-55-6.0:6.5
Effi 15,000/ Effi 26,000/
\. /L J

BID JbRUIL (zrsr-T0v9m]) na: om-mmryT sm-s0sEUTES

e N\ 7 N\
Pl 1
¥ IF !
RAMTEILRZIILEYILESEE NABELLILRYIL RAWEILZIILEYIL
(3.4) 6&#H (3.5) 6&#
v bARZE (mm) v FARZE (mm) v FARZE (mm)
3.5-4.0-45:-50-6.0 3.4 X 6K 3.5 x 6K
FEffi  10,000M Effi 10,000M Effi 10,000M
. J L J

MR REFEUCERTHENHYET DT, CTHE TS, 2021. 10. 19

Kokusu

=339 T




A0 THFIN Bm—EERR

#IFYIL(HSS) RAWZKIFYIL(HSS) 3/3)LERYJL(CoHSS)
NSRS S SIS

1K TEff 1K TEff [k TE ff 1R 5 {f 1R 5 {f
BIFUL 0.3| 620||#%IFUIL 6. 7| 990 |ABEHKIFYL 1.8| 10000 [3/VLERYIL  2.5] 1,010[(3/8LRRYIL 9. 3| 4,270
BIFYL 0.4| 510||#%IFYL 6.8 990| [Am#sgTryUL 2. 0| 1,000 [3/9LRRYJL 3. 0[ 1,050[[3/8LRRYL 9. 4] 4270
#HIRYIL 0.5| 470||#%IFUL 6.9] 990| [~mEsgTrunL 2 1] 1,000 [3/9LARYL 3. 1] 1,130[[3/%LRRYL 9. 5[ 4270
#HIRYIL 0.6| 410||#&IKrYIL 7.0] 990| [~A#msTryL 2. 2] 1000] [3/3LRRYL 3. 2| 1,130||3/VLRRYL 9. 6| 4,460
BIFYL 0.7| 380||#%IFUIL 7. 1] 1,110| [~m@sTruL 2. 3] 1,000 [3/9LARUL 3.3 1,130[[3/8LRRYL 9. 7] 4460
#BHIRYIL 0. 8| 360||#IFUL 7. 2] 1110| [~&@msgTryL 2. 4] 1000] [3/3LRRYL 3. 4| 1,130||3/VLRRYJL 9. 8| 4,460
FHIRYIL 0.9| 350||#%IFUIL 7.3| 1,110| [~m@sTrUL 2. 5] 1,000 [3/9LARYL 3. 5[ 1,130[[3/%LRRYL 9. 9] 4460
#HIRYIL 1.0] 320||#IFYL 7. 4] 1110] [~mamgIrun 26| 1000 [2/30vRFYL 3.6 1,250[|3/3LREYL 10. 0] 4,460
BIFUL 1.1]  320||#%IFYL 7.5 1,110] [~mamgIrun 2. 7] 1000] [3/3LRRYL 3. 7| 1,250[|3/%LkRYJIL - 10. 2] 7,350
BIFYL 1.2 320||#%IKRYL 7.6| 1260 [~mamgIruL 2.8 1000| [2/3vkFYL 3.8 1,250|2/3LRFYL 10. 3] 7,350
BIFYL 1.3]  320||#%IFUL 7. 7] 1260] [~mamgIruL 2. 9] 1000] [3/3LRRYL 3. 9| 1,250[|as%LkRYJIL - 10. 5] 7,350
#BHIRYIL 1.4 320||#IFUL 7.8 1260 [~A#msTrYL 3.0 1000] [2/3LRRYL 4.0| 1,250|(3/%LRRYJL - 11. 0| 7,900
BIFUL 1.5]  320||#%IFUL 7.9] 1260 [~mamgIruL 3.1] 1,100 [3/3LRRYL 4. 1| 1,500{|3/%LRRYJL - 11. 5] 8,110
BIFYL 1.6  320||#%IKYL 8. 0| 1260 [~magIrun 3.2| 1,100 [2/ULkFYL 4. 2] 1500]|3/3LREYL 12,0 8,820
BIFUL 1.7]  320||#%IFUL 8. 1| 1410| [~magzrur 3.3] 1,100 [3/3LRRYL 4. 3| 1,500{|3/%LRRYJL 12, 5] 9,450
#HIRYIL 1.8|  320||#IFUL 8. 2| 1410 |AmEgIrUL 3. 4] 1,100] [2/3LRRYL 4. 4| 1,500|(3/VLRRYJL 12,710,290
BIFUL 1.9]  320||#%IFUL 8. 3| 1410| [~mamgmIryL 3.5] 1,100 [3/3LRRYL 4. 5| 1,500{|3/%LERYJL - 13. 0] 10,290
#BHIRYIL 2.0 320||#IKYL 8. 4| 1410 |AmEgIrUL 3.6] 1,200 [2/3LRRYL 4.6| 1520
IR 2.1 320||#&TRUL 8. 5| 1,410 |A<A@MEKIFYL 3. 7| 1,200 |3/\LRRYL 4. 7| 1,520() et
$IFU)L 2 2| 320|[®TFUL 8.6 1,580 |~<mm#IFuL 3.8 1,200I SALREUL 4. 8] 1.520]| TNEMA/MEFUL(CoHSS)
B®IRYL 2.3| 320{|#TrYL 8.7| 1,580 |[~f#sIrUL 3. 9] 1200] [2/NVLRRUL 4. 9] 1,520|| pasammsmm————
#HIRYIL 2.4| 320||#IKYIL 8. 8| 1580 |AmEgIrUL 4. 0] 1,200] |2/3LRRYL 5. 0| 1,520
BIFUL 2.5 320||#%IKYIL 8. 9] 1580 [~magIruL 4. 1] 1.300] [3/3LRRYL 5. 1| 1,790 B =
BIFUL 2.6] 320|[#&TIFUL 9. 0| 1580 [xmm@IrUL 4. 2] 1300] [2/5LRFUL 5. 2] 1,790 i
BIFUL 2.7| 320||#%IKYIL 9. 1] 1,.800| [~magTruL 4. 3] 1300] [3/3LRRYL 5. 3| 1,790||< A&/ Lk 1.5| 1,800
BIFYL 2.8| 320||&IFUIL 9. 2| 1,800| [Am#sIrUL 4. 4] 1,300| [3/VLRRUL 5. 4] 1,790||Af#as UL 2.0| 1,800
BIFYL 2.9| 320||HIKYIL 9. 3] 1800 [~magIruL 4.5] 1300] [3/3LRRYL 5. 5| 1,790||<A#a/ Lk 2. 5| 1,800
HIFUL 3.0 320||#%IFUNL 9. 4] 1800 [~A#msTrFUL 4.6 1400| [2/3LRFYL 5. 6| 2,040||A<BA&#a/LE 2. 8| 1,800
FHIRYIL 3.1| 380||#%IFUIL 9.5 1,800| [~mEg&TrUL 4. 7] 1400| [3/39LRRUL 5. 7] 2040|[AfmEaasLE 3. 0] 1,800
HIFUL 3.2| 380||#IKUIL 9.6 2010| [~AmsIrYL 4. 8] 1400| [3/3LRFYL 5. 8| 2,040||A<A&a/LE 3. 2| 1,900
BIFUL 3. 3| 380||#%IFUL 9. 7] 2010| [~mamgIruL 4. 9] 1400| [3/3LRRYL 5. 9| 2,040||<A#a/ Lk 3. 3| 1,900
HIFUL 3.4| 380||#IKUIL 9. 8| 2010| [~A#m#TIrFYL 5. 0| 1400| [2/3LRFYL 6. 0| 2,040||<BA&a/ILE 3. 4| 1,900
BIFUL 3.5 380||#%IFUL 9. 9] 2010| [~magIryL 5.1] 2000] [3/3LRRYL 6. 1| 2,310||<A#a/ Lk 3. 5| 1,900
HIFUL 3.6] 420|[#TFUL  10.0[ 2010 |<E#EmE&EIrUL 5. 2] 20000 [3/3LRRYL 6. 2| 2,310||<BA&#a/ L 3. 6| 2,000
#HIRYIL 3.7]  420|[#&TFu)L 10 1] 2250 [RmEsIFL 5.3 2000| [3/8LRRYL 6. 3] 2,310|[KxA#ED/SLE 3. 7| 2,000
HIFUL 3.8] 420|[#TFUL  10. 2] 2250 |<AEmETIFUL 5. 4] 20000 [3/3LERYL 6. 4| 2,310||<BA&#a/ L 3. 8| 2,000
#FHIRYIL 3.9] 420|[#&TFU)L  10.3] 2250 [AmEIFUL 5.5 2000] [3/%LRREYL 6.5] 2.310|[AfEa/Lk 4. 0] 2,000
HIFUL 4.0 420|[8&TFU)L 10 4| 2250 [AmEmgTrUL 5.6 2100| [3/3LRRYL 6. 6] 2510||xAsaLE 4. 2| 2,500
BIFUL 4.1] s10|[#&TFUL  10.5] 2250 |xmEmsTrUL 5. 7] 21000 [3/NLRRYL 6. 7| 2,510||<A#@a/ Lk 4.5| 2500
BIFYL 4.2 s510|[#&TFYL  10.6] 2510 |<E@m#TIrUL 58] 21000 [3/%LRRYL 6.8 2510||AfEa/ Lk 4.8 2,500
BIFUL 4.3] s10|[#&TFUL 10.7] 2510 |xAEmsTIrUL 5.9 21000 [3/NLRRYL 6. 9| 2,510||<A#a/ L 5. 0| 2,500
#BHIRYIL 4.4] s510|[#&TFYL  10.8[ 2510 |<fEE@#ETIFUL 6.0 21000 [3/3LRRYL 7. 0| 2510||<BA&#a/ L 5. 2| 3,200
#HIRYIL 4.5 510|[&TFY)L  10.9] 2510| [<A#@#HIFUL 6.5 2300| [3/8LRREYL 7. 1] 2,660|[xA#D/LE 5. 5| 3,200
HIFUL 4.6 590|[#&TFUL  11.0[ 2510 |<EE@#ETIFUL 7. 0] 25000 [3/NLRRYIL 7. 2| 2,660||A<BA#@a/ILE 6. 0| 3,200
BIFUL 4.7 590|[#&TFUL  11.1] 2.760] |xmEmsTrUL 7. 5] 29000 [3/NLRRYL 7. 3| 2,660||/<AEa/ L 6. 5| 3,200
BIFJIL 4.8| 590|[#&TrU)L 11 2| 2760 [AmEgTrUL 8. 0] 3,100| [3/3LRRYL 7. 4| 2,660
BIFUL 4.9 590|[#&TFUL  11.3[ 2760 |<mEmsTIrUL 8. 5] 34000 [3/NLRRYL 7.5| 2,660
BIFJIL 5.0 590|(8&TFU)L  11.4] 2760| |[<E@msIruL 9 o] 38000 [3/3LRRYIL 7.6| 2780
BIFYL 5.1 680|[#TFUL  11.5] 2760] |<E#Em&EIrUL 9. 5] 42000 [3/3LRRYL 7.7| 2,780
#BHIRYIL 5.2| 680|{8&TFUIL  11.6]| 2970 |[<E@mHIrUL 10. 0 4300] [3/3LRRYL 7.8| 2780
BIFUL 5.3 680|[#TFUL  11.7] 2970] |<A#Em&ETIrUL 10. 5] 45000 [3/NLRRYL 7.9| 2,780
#BHIRYIL 5 4| 680|(8TFU)L  11.8] 2970| |[<E@mHIrUL 11. 0] 4800] [3/3LRRYL 8. 0| 2,780
BIFUL 5.5 680|[#TFUL  11.9] 2970 |<A#Em&ETrUL 11.5] 50000 [3/3LRRYL 8. 1| 3,360
HIFUL 5.6 780|(#IFU)L 12 0] 2970 |A<FA#EmETFUL 12. 0] 5400] [3/NLERYIL 8. 2| 3360
BIFUL 5.7] 780|[#TFUL 12 1] 3240] |<A#E&ETrUL 12. 5] 59000 [3/NLRRYL 8. 3| 3,360
#BHIRYIL 5.8 780|{8TFU)L 12 2| 3240| |[xE@mBIrUL 13. 0] 6,600] [3/3LRRYIL 8. 4| 3,360
BIFUL 5.9] 780|[#TFuU)L  12.3] 3240| |<A#E&ETrUL 13.5] 7,300] [3/NLRRYL 8. 5| 3,360
BIFJIL 6.0/ 780|[8&TrU)L 12 4| 3240 [AmEgIrUL 14. 0] 7,700] [2/3LRRYL 8.6/ 3530
BIFUL 6.1] 890|[#&TFUL 12 5] 3240 |<EEmEETIFUL 14. 5] 8,100] [T/NLRRYIL 8. 7| 3530
#BHIRUIL 6.2 890||#&IFUL 12 6| 3470 |K<EE=ETIFUL 15. 0] 9,100] [T/NLRRYIL 8. 8| 3,530
IR 6.3 890||&TFU)L 12 7| 3470 |AE=HIrUL 16.0[10,100] [3/9LRRUL 8. 9| 3530 XEFTHEL IRUILEY K
BIFUIL 6. 4| 890||#&IFYJL 12 8| 3470 2UNLRRYJL 9.0 3,530 BHOFET. (GIRSR)
#IFU)L 6.5 890|[#&TFU)L 12 9] 3470 KOkusul 2LREUL 9. 1] 4270
BIFYL 6.6 990||#IFYJL  18.0| 3470 e as YT 2/3LRRYJL 9. 2] 4,270

KALRETFELUCEETIENHYETOT. CTHETFEL, 2021. 9. 20



zl—%

l\ﬁiﬂlZl\'f 7!L’i w2

v

Ay THAX (FIN) Aok EMOKR) | B &
M3 x0.5 (2.5mm) 15mm| 3,000M
M4 x0.7 (3.3mm) 19mm| 3,100M
M5 Xx0.8 (4.2mm) o 18mm| 3,800M
M6 Xx1.0 (5.0mm) 17mm| 4,200
M8 X 1.25 (6.8mm) 21mm| 4,900H
M10x 1.5 (8.5mm) 24mm| 5,300M

ZREHZA47n9v7 0y47)

ByTHAX (FIN) aaE| EMOKR) | # &
M3 x0.5 (2.5mm) 15mm| 5,000M
M4 x0.7 (3.3mm) 19mm| 5,000H
M5 x0.8 (4.2mm) 1 20m 18mm| 5,400
M6 x1.0 (5.0mm) 17mm| 5,800H
M8 Xx1.25 (6.8mm) 21mm| 7,100H
M10x 1.5 (8.5mm) 24mn| 8,100
w 2RILAZ—|| |5F 24 ARy nlW"
I /‘\. W ‘T(/
‘1
4 ‘L(Ag
=)
TRAYTHRILE — FFybK P97 RIS -
YA X 5 & YA X 5 &
M1~M5 M3~M10
M3~M6 M5~M13
M5~M10
M6~M13

N #%TH susxH it
WITIAX N Ieman] B 5 |ZBOR] % =
M3.0 xXx0.5 (2.5) 1,600M 1,800H
M4.0 x0.7 (3.3 1,600M 1,800H
M50 x08 (4.2) 1,600M 1,800H
M6.0 x1.0 (5.0) 1,700M 2,000H
M8.0 X 1.25 (6.8) 2,500M 2,800H
M10.0x1.5 (8.5) 3,100M 3,500H
M12.0x1.75 (10.3)] 4,300H 4.800H

Kokusai

7 3o e R i

XNUBROHEN R L—Z !
Xirnic<it !
KRQARZ AL !

Bl ok =g phcall - =

[%ﬂ«r;m ozl:)\}

KA BREFEUCKERTIENHYET DT, CTHE TS, 2021. 2. 8




YT TNERR(A—FILRLCOTRE—ER)

— — -
HURE S 'F?'fié 100% U;);J R —Fslo\"/:% 70% |l7tt~1/E j;éa EJ“(,];

M2 0.4 1.6%, 157 1.61 1.65 1.7 1.567~1.679
M2.3 0.4 1.9%, 1.87 1.91 1.95 2 1.867~1.979
M2.5 0.4 2.1 5y 2.06 2.11 2.16 2.2 2.067~2.180
M2.6 0.45 2.2%, 2.11 2.16 2.21 2.26 2.113~2.238
M3 0.5 2.5%, 2.46 251 257 262 2.459~2.599
M3.5 0.6 2.9%, 2.85 2.92 2.98 3.05 2.850~3.010
M4 0.7 3.3%, 3.24 3.32 3.39 347 3.242~3.422
M5 0.8 4.2%, 413 422 4.31 4.39 4134~4.334
M6 1.0 5.0%, 492 5.03 513 5.24 4917~5.153
M8 1.25 6.8%, 6.65 6.78 6.92 7.05 6.647~6.912
M10 15 8.5%, 8.38 8.54 8.70 8.86 8.376~8.676
M12 175 10.3%, 10.11 10.30 10.48 10.67 10.106~10.441

a2y T DEE B

NEBEOEKRTE — TRE
VDoMUY E (%) = x 100
2 x HERQLCLUES

!

HRCAETE=TNRTHE

HEZERCLES l
A
A—RML-2a=T774HL Y
=P x 0. 5413 60° =
————————— [ N /et I il D
s O\,
e . S \—
(ALt CE#E LA E)
Tﬂ-llg v 2:kIL%4— TRy THRILE — 7$Iu,|~ /gu,]ﬂw—i SFrubREYTRILE—
/ | »1x % &= ( 1 44z %
— M1~5 1. 300H - / > ( =] M3~10 6, 100H
M3~6 1, 400M ¥ 8l (| = M5~12 | 7, 400M
} ( 1 ms~10 | 1, 600H _ N_-(;““_
_\)" M6~13 | 2, 700M | (L ()-

Kokusai

#HX&s#I O Y T MAR T EACEET 2 ERBYET DT, CTHFAL, 2019, 4. 16




A 2V)—bkRJIVilE IR

a9 —kRYIL(SDSEAT) aAV9) =RV (RRL—REAT)

Asx &k | 7 ffi As x &Rk | 7 ff AS x &R | 5 ff AS x &R | 5 ff AS x &R | 7 ff
3.4 x 110] 2510/[17.5 x 200] 620§ | 2.5 x 100] 1,320{ [17. O x 200| 4,140{ [10. 5 x 300| 5,220
3.5 x 110] 2510/[18.0 x 200| 6,120§ | 3.0 x 100] 1,320{ [17. 5 x 200| 4,320{ [11. O x 300| 5,220
3.8 x 110| 2510/[19.0 x 200| 6840 | 3.2 x 100] 1,320/ [18. 0 x 200| 4,320{ [12. O x 300 5,220
4.0 x 110 2510/ [20.0 x 200| 7560 | 3.4 x 100| 1320/ [19.0 x 200| 4680| [12. 5 x 300| 5940
4.3 x 110 2510/ [21.5 x 200 7,740 | 3.5 x 100| 1320/ [20. 0 x 200| 5220/ [12. 7 x 300| 5940
4.5 x 110 2510/ [22. 0 x 200 7,740] | 3.8 x 100| 1320|[21.0 x 230| 5670/ [13.0 x 300| 5940
4.8 x 110| 2510|[ 8.5 x 300] 8,100 [ 4.0 x 100| 1320|[21.5 x 230| 6,120|[13.5 x 300| 5940
5.0 x 110| 2510/ [10.5 x 300| 8,100f | 4.3 x 100] 1,320/ [22. 0 x 230| 6,120| [ 14. O x 300| 6,300
5.5 x 110] 2610/ [12.0 x 300| 8640 | 4.4 x 100] 1,320{ [22. 5 x 230[ 6,840/ [14. 5 x 300| 6,300
6.0 x 110| 2610/ [12.5 x 300] 9,000] | 4.5 x 100] 1,320/ [23. 0 x 230| 6,840/ [ 15. 0 x 300| 6,300
6.4 x 110] 2700/ [12.7 x 300] 9000§ | 4.8 x 100] 1,320{ [24. 0 x 250[ 7,200{ [16. 0 x 300| 6,300
6.5 x 110] 2700/ [14.0 x 300] 9360 | 5.0 x 110] 1410/ [25. 0 x 250] 7,920{ [17. 0 x 300 7,020
3.4 x 160] 2920|[14.3 x 300] 9360 | 5.2 x 110] 1,410/ [25. 4 x 250] 8460 [17. 5 x 300| 7,020
3.5 x 160 2920|[14.5 x 300] 9900] | 5.3 x 110] 1410/ [26.0 x 250] 9,000/ [ 18. 0 x 300| 7,020
4.3 x 160 2920| [10.5 x 400]| 10800f | 5.5 x 110| 1410/ [27. 0 x 250] 9,000/ [19. 0 x 300| 7,020
4.5 x 160 2920| [12. 0 x 400]| 10.800f | 5.6 x 110| 1410/ [28.0 x 250]| 11,160| [20. 0 x 300| 8,640
4.8 x 160 2920|[12.5 x 400]| 10.800f | 5.7 x 110| 1410/ [30.0 x 250]| 12060| [21. 0 x 300| 8,640
5.0 x 160 2920|[12.7 x 400]| 10,800} | 6.0 x 110] 1410/ [32. 0 x 250 12,780 [21. 5 x 300| 9,720
5.3 x 160] 2920/ [14.0 x 400]| 10800} | 6.2 x 110[ 1,480/ [35. 0 x 250 16,380| [ 22. O x 300| 9,720
5.5 x 160 2920/ [14.8 x 400 10800} | 6.4 x 110] 1480/ [38. 0 x 250 18,900| [ 23. O x 300 12,060
6.0 x 160] 2920|[14.5 x 400]| 10800} | 6.5 x 110[ 1,480 [40. 0 x 250 30,600| [ 24. O x 300 12,060
6.4 x 160 2920/ [16.0 x 400]| 13500} | 7.0 x 130] 1,750| [45. 0 x 250 37,800| [ 25. O x 300 12,060
6.5 x 160 2920|[17.5 x 400] 13500] | 7.2 x 130] 1,800| [50. 0 x 250 45,000| [28. 0 x 300 15,120
7.0 x 160 2920/ [18.0 x 400 13500} | 7.5 x 130] 1,800/ | 4.0 x 200| 2,880| [ 30. O x 300 16,200
7.5 x 160] 2920/ [19.0 x 400/ 14400] | 8.0 x 130] 1,980 | 4.4 x 200| 2,880 [ 32. O x 300 18,900
8.0 x 160 2920/ [20.0 x 400] 15300] | 8.5 x 130] 2,160/ | 4.8 x 200| 2,880| [ 35. O x 300 19,980
8.5 x 160| 3330/ [22.0 x 400]| 15300] | 8.7 x 130] 2340/| 5.0 x 200| 2,880| [ 38. O x 300 22,680
9.0 x 160| 3330][24.0 x 400 15300 | ©. 0 x 160[ 2,340|[ 5.2 x 200| 23880

9.5 x 160| 3510] [25.0 x 400 15300 | 9.5 x 160[ 2,520 [ 5.6 x 200| 2,880
10.0 x 160| 3,510] [26.0 x 400 17.100§ [ 10. 0 x 160[ 2,520/ [ 6.0 x 200| 23880
10.5 x 160] 3510/ [28.0 x 400 17700} [ 10.5 x 160[ 2,760/ | 6.5 x 200| 3,240 [ RFEL—FFUL B#HE
11.0 x 160] 3510/ [ 80.0 x 400 18000] [ 11.0 x 160[ 2,880/ | 7.0 x 200| 3,240 ASC)  [EHMCY
12.0 x 160] 3600/ [82.0 x 400 18900} [ 11.5 x 170[ 2880|| 7.5 x 200| 3600/| 2.5~ 4.8 [ 50
12.5 x 160] 3,710/ [12. 0 x 1000| 21,600} [ 12. 0 x 170] 3010/| 8.0 x 200| 3600|| 5 0~ 6.5 | 60
12.7 x 160] 4,050/ [12.5 x 1000] 21,600} [ 12.5 x 170] 3010/| 8.5 x 200| 3780|| 7.0~ 8.7 [ 80
13.0 x 160 4,050 12.7 x 170| 3010/| 9.0 x 200| 3780|| 9.5~13.5 | 100
13.5 x 160 4410| [ Sps&(7 £&/amk miwx | | 13. 0 x 170| 3010/ | 9.5 x 200| 4320/ [ 14.0~14.5 | 110
14.0 x 160 4,410 £8C,) [##CH| [13.5 x 170 3320/ [10. 0 X 200| 4,320| [ 15.0~16.5 | 120
14.3 x 160 5,220 110 50 | [74. 0 x 170[ 3.320] [10.5 x 200| 4:860| [ 17. 0~20.0 | 130
14.5 X 160] 5,220 160 100 | [ 14.3 x 170 3530|| 8.0 x 300 3960| [ 21.0~23.0 | 140
15.0 x 160 6,120 200 120 | |14.5 x 170 3530| [ 8.5 x 300 3960| [ 24. 0~50.0 | 150
16.0 x 160 6,120 300 210 | | 15.0 x 200| 3860/ | 9.0 x 300| 4500\ | 825547 |&#C)
16.5 X 200| 6,120 400 330 | | 16.0 x 200] 4140|| 9.5 x 300[ 4500/ | #&200mm | 150
17,0 x 200] 6,120 1000 800 | | 16.5 x 200] 4140/ [10. 0 x 300] 4500/ | #&300mm_ | 200

R E LA (RRL—H) ARABWMELLILFYL

A x £2f | E il As xRk | E N T i PN E i

8.0 x 100 1,500/ [ 7.0 x 120 1,800 2.5 1,980 4.4 2,100§ HAX =
8.2 x 100 1,500/ [ 7.5 x 120] 1,800 2.8 1,980 4.5 2,100§ 516

8.4 x 100 1,500/ [ 8.0 x 120| 2200 3.0 1,980 4.8 2,100§ $5E 4,500
8.5 x 100 1,500/ [ 8.5 x 120| 2,300 3.2 1,980 5.0 2,600§ (M8)

3.8 x 100 1,500/ [ 9.0 x 150| 2,600 3.4 1,980 5.3 2,600§ 3.8

4.0 x 100 1500/ [10. 0 x 150[ 2,700 3.5 1,980 5.5 2,600§ 3% 4,950
4.3 x 100 1500/ [10.5 x 150 2,900 3.8 2,100 6.0 2,600§ (M10)

4.5 x 100 1500/ [11. 0 x 150] 2,900 4.0 2,100 6.4 2,700§ 12

4.8 x 100| 1500| | HZBE(ILA AHR 4.3 2,100 6.5 2,700§ 443 5,400
5.0 x 100| 1,600 EIO I E: TR0 B & (M12)

5.5 x 100| 1600]| 8.0~ 48] 50 | TS

6.0 x 100 1,700|| 5.0~ 6.5 | 60 o

6.4 x 100 1,700| | 7.0~ 8.5 [ 70

6.5 X 100 1,700 9.0~11.0 100

Kokusul

=339 YT

KALRA PERERTEIA/HYFTOT. TTEATE, 2019. 6. 10




A7 )—bRER TS - T A—-DOTFTRERK

£ :
3’? Srvevveee- | ey eevtteacer & ; ;
E A ) xU 13
& cUlbL\LE < JVFFER - PLRTUH— - ByTFay
B V(A V(A
BB SUBLE SUBLE | mnERUA | aTsER | PLRTUA— ByFay
TRE 283!) 38~903!)
3.4 SH AR (BREIW)) | 4z (BEE7099) 431) (2 =7'0v%) M4 (B27'1v))
3.5 | 28, (&E/0) 2HAR@VII—F) | smBEAT @HU—F) | 43U @ESHU—h) M4 (3> —F)
3.8 | 28%@>o—n
4.0
4. 3 38%, Lk (B=710v9) 5mna4 7 (BE7'0y9) 531) (B=70v9) M5 (B227'Av))
4.5 385, LIt (@ )—h) sMAA7 (AvoU—k) | 530 (avoU—h) VHEPZIES)
4.8
5.0
5. 1
5 3 emmaAJ (BB D)) | 63 (B8 1)) M6 (87 1))
5 5 6mmAA 7 (Avo)—k) | 630 (avs—k) M6 (3> —h)
& /
N | —
# IEEVIRILFTSY h—ILTFS54 (PC) F—ILTFSTRILE a
E .—71-.3-‘- el V \//// . =
=TSS5 (MiL) IXE—T5% (NAS) RB—T545 H—ILTS5H Rk IXE—7°74'NP
i o= =N7'39 IEEVT |IXE=TSY| h—LT55 omps | A—=WTST | h—LTZ5 o=
Fra A=L759 ML | =FTs55 | (NAS) (PC) A9-739 ALk Ak [TRET7IINP
4.0 MiL4 NP-425
4.3
4.5 6
4.8 8
5.0 MIL6 NAS525 |Zhol 5400y | NP-535
5. 1
5.3
6.0 MiLS  [INEI| NAS630 #6 6410 NP—640
6. 4 10
6.5 # 00
7.0 MiL10 %7 790)-y
7.5 12 AS- 4M | #100
8.0 14 MiL12 ) 87—
8.5 AS- 5M | #200
9.0 16
9.5
10.0 18 0 NAS1060 =RISE 107597 -
11.0 [ 6M | #300
12.0 NAS1260 128 FLyk
14.0 AS- 8M | #400
18. 0 AS-10M #500
19. 7 #600
20. 0 AS-12M

Kokusai

HX=33o0Y T

AR T GO EES DB BHIET DT C TR TS0, 2018. 2. 16




